=
<

a(0 @) (raqd)

1072

Ratio

% g

(0 W L L L

1

TP n (PCA to beamline)

a(d cot(d))

wff

0 1 2 3
TP n (PCA to beamline)

—=— DQM VUUUI_RU0UU0U0U00T _Global _CMSSW_CKT__RECT
—— DQM_V0001_R000000001__Global _CMSSW_mkFitOriginal__|
—— DQM_V0001_R000000001__Global__CMSSW_mkFitLowPtQuad_ RECO

—— DOQM_V0001_R000000001__Global__CMSSW_mKFitLowPtTriplet

SICEWATL

1

[T

1 2

3

TP n (PCA to beamline)

o p/p.)

,_.
<
L

1072

Ratio
N

=

2
TP n (PCA to beamline)

3

z

oo a,) (cm)

1]

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


